Validate Print Help

Percentage BoQ

Tender Inviting Authority: Staff Officer (Civil),CCL, Dhori Area

Name of Work:- Repair and maintenance ,colour washing and distempering along with repair and maintenance of the approach road to the magazine and other civil works at 4,5,6,7,8 incline under Dhori Khas Dhori Area.

		Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department		
ITC Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Earthwork in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5m in width or10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	45.9	cum	188.45	8649.86	INR Eight Thousand Six Hundred & Forty Nine and Palse Eighty Five Only
2	Granular Sub-Base with Coarse Graded Material (Table:- 400- 2) (Construction of granular sub-base by providing coarse graded material,spreading in uniform layers with motor grader on prepared surface,mixing by mix in place method with rotavator at OMC, and compacting with vibratory roller to achieve the desired density, complete as per clause 401) for grading- II Material	54	cum	2445.000	132030.00	INR One Lakh Thirty Two Thousand &Thirty Only
3	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering -All work upto plinth level: 1:3:6 (1 Cement: 3 coarse sand : 6 graded stone aggregate 20 mm nominal size)	33.9	cum	5916.00	200552.40	INR Two Lakh Five Hundred & Fifty Two and Paise Forty Only
4	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	5.51	cum	1844.00	10160.44	INR Ten Thousand One Hundred & Sixty and Paise Forty Four Only
5	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	2.53	cum	5322.15	13465.04	INR Thirteen Thousand Four Hundred & Sixty Five and Paise Four Only
6	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand)	6.75	cum	6494.75	43839.56	INR Forty Three Thousand Eight Hundred & Thirty Nine and Paise Fifty Six Only

7	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	58.57	cum	6490.90	380172.01	INR Three Lakh Eighty Thousand One Hundred & Seventy Two and Paise One Only
8	Centring and shuttering including strutting, propping etc. and removal of form for : Foundations, footings, bases of columns, etc. for mass concrete.	55.8	sqm	262.55		INR Fourteen Thousand Six Hundred & Fifty and Paise Twenty Nine Only
9	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	383.49	kgs	92.55	35492.00	INR Thirty Five Thousand Four Hundred & Ninety One and Paise One Hundred Only
10	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required: 0.63 mm thick with zinc coating not less than 275 gm/ m ²	7.02	sqm	821.25	5765.11	INR Five Thousand Seven Hundred & Sixty Five and Paise Seventeen Only
11	Fencing with angle iron post placed at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire weighing 9.38 kg per 100 m (minimum), between the two posts fitted and fixed with G.I. staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately). Payment to be made per metre cost of total length of barbed wire used:With G.I. barbed wire	250	mtrs.	16.15	4037.5(INR Four Thousand &Thirty Seven and Paise Fifty Only
12	Providing and fixing concertina coil fencing with punched tape concertina coil 600 mm dia 10 metre openable length (total length 90 m), having 50 nos rounds per 6 metre length, upto 3 m height of wall with existing angle iron 'Y' shaped placed 2.4 m or 3.00 m apart and with 9 horizontal R.B.T. reinforced barbed wire, stud tied with G.I. staples and G.I. clips to retain horizontal, including necessary bolts or G.I. barbed wire tied to angle iron, all complete as per direction of Engineer- in-charge, with reinforced barbed tape(R.B.T.) / Spring core (2.5mm thick) wire of high tensile strength of 165 kg/ sq.mm with tape (0.52 mm thick) and weight 43.478 gm/ metre (cost of M.S. angle, C.C. blocks shall be paid separately)	100	mtrs.	255.85	25585.00	INR Twenty Five Thousand Five Hundred & Eighty Five Only
13	White washing with lime to give an even shade :New work (three or more coats)	2835	sqm	24.300	68890.50	INR Sixty Eight Thousand Eight Hundred & Ninety and Paise Fifty Only
14	Colour washing such as green, blue or buff to give an even shade : New work (two or more coats) with a base coat of white washing with lime	4179.1	sqm	33.40	139581.94	INR One Lakh Thirty Nine Thousand Five Hundred & Eighty One and Paise Ninety Four Only

Quoted Rate in Figu	ures		Select		0.00 INR Zero Only
Total in Figures					1571070.51 INR Fifteen Lakh Seventy One Thousand &Seventy and Paise Fifty One Only
26	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	
25	carriage of materials by mechanical transport including loading unloding and stacking:- Lime moorum and building rubbish lead of 1 Km	150	cum	168.10	25215.00 INR Twenty Five Thousand Two Hundred & Fifteen Only
	Supplying and stacking at site. Moorum	141.5	cum	771.15	Seventeen and Paise Seventy Two Only
23	Clearing grass and removal of the rubbish upto a distance of 50 m outside the periphery of the area cleared	1500	sqm	5.200	7800.00 INR Seven Thousand Eight Hundred Only 109117.73 INR One Lakh Nine Thousand One Hundred &
22	Earth work in excavation by mechanical means (Hydraulic Excavator)/ manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	150	cum	188.450	28267.50 INR Twenty Eight Thousand Two Hundred & Sixty Seven and Paise Fifty Only
21	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate	180.4	sqm	452.500	81631.00 INR Eighty One Thousand Six Hundred & Thirty One Only
20	Repairs to plaster of thickness 12mm to 20mm in patches of area 2.5 sq. metres and under including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete including disposal of rubbish to the dumping ground within 50 meters lead : With cement mortar 1:4 (1 cement : 4 fine sand)	120	sqm	356.950	42834.00 INR Forty Two Thousand Eight Hundred & Thirty Fou Only
19	12 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand) .	107.75	sqm	217.700	23457.18 INR Twenty Three Thousand Four Hundred & Fifty Seven and Paise Seventeen Only
18	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm)	640	sqm	74.70	47808.00 INR Forty Seven Thousand Eight Hundred & Eight C
17	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.One coat	238	sqm	56.65	13482.70 INR Thirteen Thousand Four Hundred & Eighty Two and Paise Seventy Only
16	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work	878	sqm	65.65	57640.70 INR Fifty Seven Thousand Six Hundred & Forty and Paise Seventy Only
15	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade : New work (two or more coats) over and including water tinnable priming coat with cement primer	443	sqm	115.000	50945.00 INR Fifty Thousand Nine Hundred & Forty Five Only

Quoted Rate in Words	
	INR Zero Only